VINCENT J. DEROSE T 613.787,3589 vderose@blg.com Borden Ladner Gervais LLP World Exchange Plaza 100 Queen St. Suite 1300 Ottawa, QN, Canada K1P 1J9 T 613.237.5160 F 613.230.8842 blg.com



Our File # 339583-000194

By electronic filing

October 15, 2015

Kirsten Walli Board Secretary Ontario Energy Board P.O. Box 2319 2300 Yonge Street 27th floor Toronto, ON M4P 1E4

Dear Ms. Walli

Re:

Ontario Power Generation Inc. ("OPG")

Application to dispose of balances in certain deferral and variance accounts

Board File #:

EB-2014-0370

Pursuant to the Board's Decision and Order dated September 10, 2015, we enclose a Cost Claim on behalf of our client, Canadian Manufacturers & Exporters ("CME").

A copy of this Cost Claim has been forwarded to OPG as instructed in the Decision and Order.

Please contact me if you have any questions or require any additional information.

Yours very truly

Vincent J. DeRose

enclosure

c.

Carlton Mathias (OPG) Charles Keizer (Torys LLP)

Paul Clipsham and Ian Shaw (CME)

OTT01: 7265046: v1

Ontario Energy Board COST CLAIM FOR HEARINGS



Affidavit and Summary of Fees and Disbursements

This form should be used by a party to a hearing before the Board to identify the fees and disbursements that form the party's cost claim. Paper and electronic copies of this form and itemized receipts must be filed with the Board and served on one or more other parties as directed by the Board in the applicable Board order. Please ensure all required (yellow-shaded) fields are filled in and the Affidavit portion is signed and sworn or affirmed.

	A SECTION A			nstructions		
- Required data input is indicated by yellow-shaded fields. Formulas are embedded in the form to assist with calculations.						
- All claims mu	ist be in Canadia	an dollars. If applicable,	state exchange	e rate and country of initial curr	ency.	
			Rate:		Country:	
Being Claimed Disbursements - The cost clair - A CV for each	") is required fo s" covering the v m must be supp n consultant/and	r each lawyer, analyst/co whole of the party's cost orted by a completed Aff alyst must be attached ur	nsultant and a claim should b idavit signed b nless provided	orising a "Statement of Fees Bei articling student/paralegal. How be provided. by a representative of the party. to the Board as prescribed on the Direction on Cost Awards, ite	vever, only one "Sui he Cost Award Tarif	mmary of Fees and f.
				Ontario Power Generation		
File # EB-	2014-0370		Process:	balances in certain defer	ral and variance	accounts
Party:	Canadian M	lanufacturers & Exp	orters	Affiant's Name: V	incent J. DeRose	e
HST Numbe	er: 10807	5482 RT0001		HST Ra	ate Ontario:	13.00%
		Full Registrant		Qualifying	g Non-Profit	
		Unregistered		·	Tax Exempt	
		Other	\checkmark			
Marie Bright			S. S. 11-7	Affidavit	STATE OF THE	
1,	Vincent J.	DeRose		, of the City of O)ttawa	
in the Prov	ince of	0	ntario	, :	swear or affirm	that:
 I am a representative of the above-noted party (the "Party") and as such have knowledge of the matters attested to herein. I have examined all of the documentation in support of this cost claim, including the attached "Summary of Fees and Disbursements Being Claimed", "Statement(s) of Fees Being Claimed" and "Statement(s) of Disbursements Being Claimed". The attached "Summary of Fees and Disbursements Being Claimed", "Statement(s) of Fees Being Claimed" and "Statement(s) of Disbursements Being Claimed" include only costs incurred and time spent directly for the purposes of the Party's participation in the Ontario Energy Board process referred to above. 						
sections 6.05 a	and 6.09 of the I	lude any costs for work on Board's Practice Direction		epent, by a person that is an emports.	ployee or officer of	the Party as described in
Signature	of Affiant					
Sworn or a	affirmed be	fore me at the City	of	Ottawa		
in the Prov	ince of	Ontario		, on _ (October 15, 20:	15
Commission	oner for tak	ing Affidavits			(date)	
	FILL IOI TON					

Ontario Energy Board COST CLAIM FOR HEARINGS



Affidavit and Summary of Fees and Disbursements

Ontario Power Generation Inc. - Application to dispose of

File # EB-

2014-0370

Process: balances in certain deferral and variance accounts

Party:

Canadian Manufacturers & Exporters

Summary of Fees and Disbursements Being Claimed					
Legal/consultant/other fees	\$21,115.00				
Disbursements	\$54.75				
HST	\$2,752.07				
Total Cost Claim	\$23,921.82				

Payment Information

Make cheque payable to: Borden Ladner Gervais LLP

Send payment to this address: Borden Ladner Gervais LLP

Attention: Vincent J. DeRose

World Exchange Plaza

100 Queen Street, Suite 1300

Ottawa, ON K1P 1J9

Ontario Energy Board COST CLAIM FOR HEARINGS



			Ontario Power Generation Inc Application to dispose of				
File # EB-	2014-0370	Process:	balances in	n certain def	erral and vari	ance accour	nts
Party:	Canadian Manufacturers & Ex	porters	Service Pro	vider Name:	Peter C.P. Th	ompson, QC	7
Service Provider Type		(check one)		Year Called to Bar			irs Practising/Years nt experience
	Legal Counsel	7		1967			45+
	Articling Student/Paralegal						
	Consultant				I	Hourly Rate:	\$330.00
	Analyst						
	For Consultant/Analyst:		CV attached		HST Rate Charged (enter		13%
			CV provided	within previou	s 24 months		
29 H A CA	S	tatement o	f Fees Beir	ng Claimed			TANK SIRONES MILI
		Hours	Hourly rate	Subtotal	HST	Т	otal
Preparation:		2.10	\$330.00	\$693.00	\$90.09		\$783.09
	V-10-MARTINE ENGINEERS WINNESS			\$0.00	\$0.00		\$0.00
TOTAL SER	VICE PROVIDER FEES			\$693.00	\$90.09		\$783.09



File #:	EB-2014-0370						
Process:	Ontario Power Generation Inc. Application to dispose of balances in certain deferral and variance accounts						
Party:	Canadian Manufacturers & Exporters						
Name:	Peter Thompson						
Dec 18-14	Reviewing OPG's Application	0.5	Preparation				
Jan 20-15	Reviewing OPG letter re: Information Session	0.1	Preparation				
Feb 3-15	Reviewing OPG's letter re: upcoming OPG Applications	0.2	Preparation				
Feb 4-15	Considering email from E. Blanchard; reviewing materials provided by OPG to recent Information Session	1.0	Preparation				
Feb 17-15	Reviewing Board letter to OPG	0.1	Preparation				
Feb 20-15	Considering evidence update	0.2	Preparation				
	Total Hours for Peter Thompson:	2.1					
	<u>Hours</u>		Fees				
Preparation	2.1 x \$330.00/hr =		693.00				
	2.1 Total Fees for Peter Thompson:		\$ 693.00				

OTT01: 6753514: v1

Ontario Energy Board COST CLAIM FOR HEARINGS



			Ontario Power Generation Inc Application to dispose of				
File # EB-	2014-0370	Process:	balances i	n certain def	erral and varia	ance account	S
Party:	Canadian Manufacturers & Ex	xporters	Service Pro	ovider Name:	Vincent J. Del	Rose	
	Service Provider Type	(check one)		Year Called to Bar			Practising/Years experience
	Legal Counsel	V	•	2001		1	.4
	Articling Student/Paralegal				25	_	
	Consultant				H	Hourly Rate:	\$290.00
	Analyst					_	
	For Consultant/Analyst:		CV attached		HST Rate Char	ged (enter %)	13%
			CV provided	within previous	24 months	_	
	S	tatement o	f Fees Bei	ng Claimed			
		Hours	Hourly rate	Subtotal	HST	То	tal
Preparation	n:	1.50	\$290.00	\$435.00	\$56.55		\$491.55
Interrogato	ries: Preparation	6.90	\$290.00	\$2,001.00	\$260.13		\$2,261.13
	Responses	10.50	\$290.00	\$3,045.00	\$395.85		\$3,440.85
Settlement	Conf: Preparation	10.10	\$290.00	\$2,929.00	\$380.77		\$3,309.77
	Attendance	8.40	\$290.00		\$316.68		\$2,752.68
	Proposal Preparation	18.40	\$290.00	\$5,336.00	\$693.68		\$6,029.68
Argument:	Preparation	7.80	\$290.00	\$2,262.00	\$294.06		\$2,556.06
TOTAL SFR\	/ICE PROVIDER FEES	dimension for	TORES IN	\$18,444.00	\$2,397.72		\$20,841.72



File #: EB-2014-0370

Ontario Power Generation Inc. Process:

Application to dispose of balances in certain deferral and variance accounts

Party:	Canadian Manufacturers & Exporters	ii diid vi	arianoc aoooanto
Name:	Vince DeRose	=	
Dec 18-14	Reviewing Application and Evidence	1.5	Preparation
Mar 10-15	Reviewing evidence and considering Interrogatories	2.6	Interrogatories Prep
Mar 11-15	Reviewing evidence for Interrogatories	0.8	Interrogatories Prep
Mar 12-15	Reviewing Board Staff Interrogatories	0.4	Interrogatories Prep
Mar 12-15	Reviewing AMPCO Interrogatories	0.3	Interrogatories Prep
Mar 13-15	Reviewing evidence and drafting Interrogatories	2.8	Interrogatories Prep
Mar 27-15	Reviewing Interrogatory Responses and corresponding evidence	3.4	Interrogatory Responses
Mar 29-15	Reviewing Interrogatory Responses	3.2	Interrogatory Responses
Mar 30-15	Reviewing Interrogatory Responses	1.2	Interrogatory Responses
Mar 31-15	Reviewing emails from intervenors	0.2	Interrogatory Responses
Apr 1-15	Reviewing Interrogatory Responses	2.5	Interrogatory Responses
Apr 8-15	Reviewing evidence and related info re: Issues List and settlement	3.0	Settlement Conf. Prep
Apr 13-15	Reviewing Issues List and related evidence	0.8	Settlement Conf. Prep
Apr 15-15	Reviewing Issues List	0.2	Settlement Conf. Prep
Apr 17-15	Prepare for settlement discussions	1.3	Settlement Conf. Prep
Apr 19-15	Prepare for settlement discussions	2.0	Settlement Conf. Prep
Apr 20-15	Prepare for and attend Settlement Conference	4.0	Settlement Conf. Attend
Apr 22-15	Telephone call from Intervenors; reviewing related emails; reviewing rate impacts	2.0	Settlement Conf. Prep
Apr 23-15	Emails to and from Intervenors; telephone call with Intervenors	0.8	Settlement Conf. Prep
Apr 24-15	Prepare for and attend Settlement Conference; reviewing recalculation of rate impacts	4.4	Settlement Conf. Attend
Apr 28-15	Reviewing email from Board Staff	0.2	Settlement Conf. Proposal Prep
Apr 30-15	Reviewing and responding to emails	0.3	Settlement Conf. Proposal Prep
May 1-15	Reviewing draft Settlement Agreement	1.0	Settlement Conf. Proposal Prep
May 4-15	Reviewing draft Settlement and Intervenors comments	1.2	Settlement Conf. Proposal Prep
May 6-15	Reviewing revised Settlement and comments	1.2	Settlement Conf. Proposal Prep
May 7-15	Reviewing comments from intervenors	0.5	Settlement Conf. Proposal Prep



May 7-15	Reviewing response from OPG; telephone call to Intervenors	1.0	Settlement Conf. Proposal Prep
May 11-15	Reviewing revised Settlement document	1.1	Settlement Conf. Proposal Prep
May 14-15	Reviewing revised Settlement	0.8	Settlement Conf. Proposal Prep
May 20-15	Reviewing comments on Settlement document	0.7	Settlement Conf. Proposal Prep
May 21-15	Reviewing Settlement Agreement	1.3	Settlement Conf. Proposal Prep
May 22-15	Reviewing revised Settlement Agreement	0.5	Settlement Conf. Proposal Prep
May 25-15	Reviewing attachment provided by OPG; drafting email; receiving call from Intervenors	1.3	Settlement Conf. Proposal Prep
May 25-15	Reviewing email from J. Shepherd	0.4	Settlement Conf. Proposal Prep
May 26-15	Reviewing draft Settlement Agreement; telephone call	2.4	Settlement Conf. Proposal Prep
June 2-15	Reviewing response from OPG re: Settlement	0.2	Settlement Conf. Proposal Prep
June 3-15	Reviewing Settlement and Intervenor comments; drafting email	0.5	Settlement Conf. Proposal Prep
June 3-15	Reviewing and responding to Intervenor emails; telephone call to Intervenor representative re: Settlement	0.8	Settlement Conf. Proposal Prep
June 4-15	Telephone call from Intervenors; reviewing counterproposal; related emails	1.0	Settlement Conf. Proposal Prep
June 8-15	Reviewing OPG offer; telephone call to Intervenors	0.6	Settlement Conf. Proposal Prep
June 11-15	Reviewing Settlement Agreement	0.4	Settlement Conf. Proposal Prep
June 12-15	Reviewing proposal and Settlement Agreement, including review of Board Staff submissions	1.0	Settlement Conf. Proposal Prep
July 2-15	Reviewing material for teleconference and written submissions	1.0	Argument Prep
July 3-15	Prepare for and host teleconference with Intervenors	1.3	Argument Prep
July 5-15	Reviewing issues and prepare submissions	0.6	Argument Prep
July 7-15	Reviewing Argument by J. Shepherd; drafting submissions	1.6	Argument Prep
July 8-15	Drafting submissions on unsettled matter	3.3	Argument Prep
	Total Hours for Vince DeRose:	63.6	-

	<u>Hours</u>		<u>Fees</u>
Preparation	1.5	x \$290.00/hr =	435.00
Interrogatories Prep	6.9	x \$290.00/hr =	2,001.00
Interrogatory Responses	10.5	x \$290.00/hr =	3,045.00
Settlement Conf. Prep	10.1	x \$290.00/hr =	2,929.00



	63.6	Total Fees for Vince DeRose:	\$18.444.00
Argument Prep	7.8	x \$290.00/hr =	2,262.00
Settle. Conf. Proposal Prep	18.4	x \$290.00/hr =	5,336.00
Settlement Conf. Attend	8.4	x \$290.00/hr =	2,436.00

Ontario Energy Board COST CLAIM FOR HEARINGS



File # EB- 2014-0370 Ontario Power Generation Inc Application to dispose Process: balances in certain deferral and variance accounts						
Party:	Canadian Manufacturers & Exporters	Service Provider Name: Vincent J. DeRose				
Es en es	Statement of Dis	bursements Being Claim	ed	San Carlo		
		Net Cost	HST	Total		
Scanning/F	Photocopying: 19 copies @ \$0.25 each	\$4.75	\$0.62	\$5.37		
LPIC Levy S	Surcharge - as in previous cost claims	\$50.00	\$6.50	\$56.50		
Other:			\$0.00	\$0.00		
TOTAL DIS	BURSEMENTS:	\$54.75	\$7.12	\$61.87		

Ontario Energy Board COST CLAIM FOR HEARINGS



		Ontario Power Generation Inc Application to dispose of				
File # EB-	2014-0370	Process:	balances in	n certain def	erral and varia	ance accounts
Party:	Canadian Manufacturers & E	xporters	Service Pro	ovider Name:	Emma Blanch	ard
	Service Provider Type	(check one)		Year Called to Bar	=	Completed Years Practising/Years of relevant experience
	Legal Counsel	V		2007		8
	Articling Student/Paralegal					
	Consultant				H	Hourly Rate: \$230.00
	Analyst					
	For Consultant/Analyst:		CV attached		HST Rate Char	ged (enter %) 13%
			CV provided	within previous	s 24 months	•
	STEEL STREET STREET	tatement o	f Fees Bei	ng Claimed		
		Hours	Hourly rate	Subtotal	HST	Total
Preparatio	n:	4.50	\$230.00	\$1,035.00	\$134.55	\$1,169.55
Settlemen	t Conf: Preparation	0.10	\$230.00	\$23.00	\$2.99	\$25.99
	Attendance	3.00	\$230.00	\$690.00	\$89.70	\$779.,70
	Proposal Preparation		\$230.00	\$0.00	\$0.00	\$0.00
Argument:	Preparation	1.00	\$230.00	\$230.00	\$29.90	\$259.90
				\$0.00	\$0.00	\$0.00
TOTAL SER	VICE PROVIDER FEES			\$1,978.00	\$257.14	\$2,235.14
I O I AL JEN	VICE FROVIDER FEED			71,770.00	3437,14	72,233.14



File #:	EB-2014-0370						
Process:	Ontario Power Generation Inc. Application to dispose of balances in certain deferral and variance accounts						
Party:	Canadian Manufacturers & Exporters						
Name:	Emma Blanchard						
Jan 22-15	Participate in Second Information Session re: OPG Upcoming Payment Amounts Application	4.5	Preparation				
Apr 20-15	Attend Settlement Conference with OPG re: Deferral and Variance Accounts	3.0	Settlement Conf. Attend				
Apr 30-15	Email from V. Binette and reply re: cancellation of Settlement Conference	0.1	Settlement Conf. Prep				
July 8-15	Review SEC argument and provide comments to V. DeRose re: submissions – outstanding issue	1.0	Argument Prep				
	Total Hours for Emma Blanchard:	8.6					

	<u>Hours</u>		<u>Fees</u>
Preparation	4.5	x \$230.00/hr =	1,035.00
Settlement Conf. Prep	0.1	x \$230.00/hr =	23.00
Settlement Conf. Attend	3.0	x \$230.00/hr =	690.00
Argument Prep	1.0	x \$230.00/hr =	230.00
	8.6	Total Fees for Emma Blanchard:	\$1,978.00